ASD [V /rtHz]
=

| —— H1 LSC REFL A RIN OUT DQ Nominal 9MHz Nominal 45MHz T0=1426014687

—— H1 LSC REFL A RIN OUT DQ Nominal 9MHz High 45MHz T0=1426016197

- —— H1 LSC REFL A RIN OUT DQ Nominal 9MHz Low 45MHz T0=1426015172 """"""

__________________________________________________________

——————————————————————————————————————————————

—————————————————————————————————————————————

___________________________________________________

___________________________________________________

— ; : : : : ; —
101 102
Frequency [Hz|

No gps time needed



